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Revision of a Non-Specialised Translation: List of Error Categories for Candidates (English into Greek)

The translation includes errors at word, phrase or sentence level across the following categories:

Error Category Examples of Errors

a) Language source text: This week the government announced that all public servants would get a pay rise.

Correct version: Autr) tnv eBdouada n KuBgpvnan avakoivwaoe ottt 0ot ot dnuoatot untceAAndot Sa AaBouv avénan.
Incorrect version: H KuBépvnon avakoivwae tL 0Aot ot Snudotot urtaAAnAot Sa AaBouv avénon autn tnv e8doudda.

1. Distortion: An element of The original indicates the time the government announced changes to pay. The changed position of the time phrase “this

meaning in the source textis | week” in the incorrect version alters the meaning of the text
altered in the target text.

A distortion can occur in an

individual word, phrase,
clause or entire sentence. b) Language source text: The witness described the thief as a young man with black hair.

Correct version: O Laptupac MepLeypae Tov ANOTH w¢ VEAPOV avopa UE Uaupa UaAALd.
Incorrect version: O udaptupag reptéypae tov Anotr wg veapov avépa ue Eavia uaiiia.

“Black” was translated as “blonde”, thereby changing the meaning

2. Unjustified omission: An Language source text: The largest increases in soil carbon levels are obtained in the first 6-8 years after changes in land
element of meaning in the management, and after 35 years the rate of change drops to zero.
source text is not transferred

; Correct version: Ot ueyaAutepec avénoeic ota enineda avipako e5APOUC CNUELWVOVTAL KATA T MPWTA 6-8 £TN UETA ATTO
into the target text.

An unjustified omission can
occur with an individual word, | Incorrect version: Ot peyaAutepeg avérjoeig ota enineba avipaka e5ApOUG ONUELWVOVTAL KATA TO TTPWTH 6-8 €T UETH Ao

phrase, clause or entire UETaBOAEG oTnV Slayeiplon xepoaiwv EKTATEWV.
sentence. The underlined clause was omitted, thereby causing significant loss of the meaning of the sentence.

UETABOAEC 0oTNV Sloyeiplon xepoaiwv EKTATEWV KAl UETA a0 35 £TnN T0 m0000TO aAAay ¢ UELWVETAL OTO UNSEV.
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a) Language source text: would guarantee that people leaving the workforce in their mid-60s enjoyed a financially secure
retirement.

3. Unjustified insertion: An
element of meaning that does
not exist in the source text is | Correct version: o eyyudtal 0Tt T ATOUN TTOU QITOCUPOVTAL ATTO TO EPYATIKO SUVOULKO 0TO 65° €T0¢ TN¢ nAtkiog Toug Yo

added to the target text. armoAauBavouv uila olkovouLkd ao@aln cuvtaéiodotnon.
An unjustified insertion can Incorrect version: Ga eyyudatal OTL Ta ATOUA TTOU ATTOCUPOVTAL QIO TO EPYATIKO SUVAULKO 0TO 65° £T0¢ TnG nAtkiog Touc Ba

occur with an individual word,

phrase, clause or entire
sentence. The underlined text does not appear in the source, and it cannot be implied from the source, hence the addition of this text is

not reasonably justified, and the meaning has undergone an unreasonable amplification.

armoAauBavouv uia otkovoutkd ao@aln cuvtaélodotnon, yia to urtoAouto tng wrng toug aveaptnta oo 1o moco Ya {Hoouv.

a) Language source text: In a recent judgement, the Criminal Court handed down a three-month suspended sentence.
Correct version: Je i mpoo@atn ano@aon tou, To Motviko AtkaoTtrplo EMEBAAE OLVI) TPLWV UNVWV LE XVOOTOAN.

Incorrect version: S pia mpoopatn anoeaor) tou, To MMowikd Aikaotriplo ESWUE oLV TPLWV UNVWV UE AVOOTOAN.
4. Inappropriate register: An

expression or variety of
language considered by a
native speaker to be
inappropriate to the specific b) Language source text: [in minutes of board meeting] The Chairman expressed his extreme displeasure.
context in which it is used.

In the legal register, the wording usually used is that a court hands down (‘emtBaAAel) rather than gives out (8ivel) a sentence.

Correct version: O lpoebdpocg eé€ppaoe Tnv Evtovn Suopopia Tou.

Incorrect version: O [1poedpoc eime OTL TOAVTIOTNKE TTOAU.

The meaning of ‘elne 6t toavtiotnke moAv’(said he was very pissed off) is the same as the meaning of ‘e€€dppaoe tnv évtovn
Sduodopia tou’ (expressed his extreme displeasure), but is too colloquial and not formal enough in this sentence.
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5. Unidiomatic expression: An

expression sounding
unnatural or awkward to a
native speaker irrespective of
the context in which the
expression is used, but the
intended meaning can be
understood.

a) Language source text: This year sees a strong increase in foreign investment.
Correct version: To TapoV £€T0¢ ONUELWVEL EVTOV avénon oTtic emevOUTELC EEWTEPLKOU.
Incorrect version: To mapdv £to¢ onuelwvel duvartr avénon ot emevOUOELG EEWTEPLKOU.

‘évtovn’ is a correct collocation, whereas although the meaning of ‘Guvatry’ can be understood, it is not idiomatic

b) Language source text: She went home, washed her hair, changed her clothes and cleaned her room.
Correct version: lnye oriti, EAdovoe ta paAdia tng, aAdaée ta pouxa TNC Kot KABAPLOE TO SWUATLO TNC.

Incorrect version: 1iye omitt, EAovoe padia, aAdaée pouya kot kadapioe Swudtio.

In Greek, when the possessive adjective ‘tng’ (her) is omitted, the meaning becomes unclear, ie. it could mean that the
actions objects (hair, clothes, room) are her own or someone else’s.

. Error of grammar, syntax:
Error in structuring words,
clauses and phrases of a
language. E.g. incorrect word
type/form; incorrect verb
tense/form; agreement error
between subject- verb, noun-

pronoun, adjective- noun, etc.

a) Language source text: A bunch of people came in and bought a bunch of flowers.
Correct version: Hpde éva TooupLo avBpwnwV Kot ayopace Eva LAToo Aoudoudia.
Incorrect version: ‘HpJde éva tooupuo avipwnwy kat ayopaoce éva Udtoo Aoudoud.
The quantifier is incorrectly collocated.

b) Language source text: He watched a movie.
Correct version: lapakoAouBnoe uia touvia.
Incorrect version: Exet mapakodouvdroet uta tawvio.

The use of the perfect past tense of the verb is inappropriate.
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c) Language source text: My dog Milly just can’t stop playing with her own tail.
Correct version: H okuAitoa pou n MiAAv bev otauatda va railel e THV oUupd Trc.
Incorrect version: H okuAitoa pou n MiAAu Sev otauata va railel ue tnv ovpd tou.

In Greek, the possessive adjective needs to agree with the gender of the corresponding noun, ie. masculine/feminine/neuter

d) Language source text: /t is the captain who flies the plane.

Correct version: O mAGTOC givail QUTOC TOU METAEL TO AEPOTTAAVO.

Incorrect version: O TUAGTOG QUTOC TETAEL AUTO TO ALEPOTIAAVO.

Incorrect sentence structure which alters the meaning.

7. Error of spelling: Error in a) Language source text: The purpose of this activity is to build trust in the team.
forming words with letters or

characters. E.g. misspelling of
a word/character, incorrect Incorrect version: To avTiKUUEVO aQUTHC TNG SPAOTLOLOTNTAG Eival N ETTELKOSOULON EUTTLOTOCNVNG OTNV oudda.

Correct version: To avTIKEILEVO aUTH G TNC SPAOTNPLOTNTAC ELVaL 1) EMOLKOOOUNON EUTTLOTOOUVNG OTNV OUAda.

capitalisation. Use of incorrect spelling, as per underlined letters.

8. Error of punctuation: Error in

use of marks that separate a) Language source text: The government will change its policy on the taxation of trusts.
sentences and their elements,

and clarify meaning. E.g.

Correct version: H KuBépvnaon Sa TpomomnmoLoet TNV MTOALTLKN TG OTOV TOUEQ TNE POPOAOYNONG KATATTLOTEUUATWV.

incorrect comma, full-stop, Incorrect version: H KuBépvnan, 9a tpomomnotioeL TNV MOALTIKI) TNG OTOV TOUEX TNG POPOAOYNONG KATATILOTEUUATWV.
apostrophe, inverted Incorrect use of the comma, which has inappropriately fragmented the subject and the verb.

commas, etc.
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